Amladcyklar

Ladcykel entusiaster sedan 1992

i . % .5
- ,
4

El Ladcykel
Ultimate Harmony

Monteringsanvisningar

Lds igenom manualen noggrant innan monteringen paboérjas. Cykeln monteras
ihop i flera olika moment. Det ar viktigt att l1asa igenom bruksanvisningen noga
innan monteringen borjar sa cykeln monteras i ratt ordning.

Det rekommenderas att vara tva personer for att montera ladcykeln.
Observera att alla muttrar och skruvar pa cykeln maste dras at efter ca en manads
anvandning. Var noga med att kontrollera alla delar av cykeln och dra at

alla skruvar och bultar.



Amladcyklar

l Ladcykel entusiaster sedan 1992

the Steering Screw

@/MM Washers(Four Pieces Total)

& As shown in figure 1, first of all press the bearing outer rings into
) the step holes in the two sides of the chassis connecting piece (to the
very lowest point), =then put the steering screw through M24
washer = through the upper hole of the frame connecting piece =
through M24 washer = through the chassis connecting piece =
through the bearing inner ring =through M24 washer = through the
lower hole of the frame connecting piece = through M24 washer =
last of all tighten M24 checknut;




the fixing plates on the rear end of the loading box(The
right one and the left one are symmetrical to each other)

the fixing plates of the front end of the loading box(The
right one and the left one are symmetrical to each other)

M6 large round cross head
screws(twelve pieces total)

____ the bottom plate on the

Ioaalng box

the chassis

) M6 washer
I f M6 checknut
b o

MIadc:) klar As shown in Figure 2, with M6 large round cross head screw, connect the front,

Lédcykel entusiaster sedan 1992 the middle, and the rear fixing plates to the bottom plate on the loading box and the
loading box chassis, put the M6 washer, and screw on the M6 checknut (Note that
@ please do not twist it too tight so that the fixing plates are removable and the loading

box is adjustable.)




the rear end of the loading box

the side boards of the loading box(The
left and the right ones are symmetrical
to each other)

the handlebar fixing plates(The left and the Am1 kl r
right ones are symmetrical to each other) y

~ Ldadcykel entusiaster sedan 1992

N cushion fixing sheets (the left and
N\ the right ones are symmetrical to
": other)

\"\ |
"‘\I. the wiring harness sheets\
4‘ (four sheets total on the

E/ left or/and on the right)

y:
S 'y
R S

4: ;= P
the front end of the loading box/gi f -

As shown in Figure 3, with an interlocking screw, connect the front and the rear boards of the loading box to the fixing plates
of the loading box(As for the sizes of the screws, please refer to the loading box screw specification diagram), when connecting
with the screws, please put the corresponding spare parts on as shown in Figure 3, please do not tighten the screw too much

@ before all the screws are put and the bottom of the box is adjusted to its best position, then tighten the 12 M6 large round cross
head screws on the bottom plate of the loading box, and last of all tighten all the interlocking screws on the loading box;




the cushion plate(The front one
and the rear one are identical) Am a c ar
the fender fixing plates(The left and the ===
'right ones are identical to each other) Q.\

the fenders (The left and the
/right ones are identical)

~ Lddcykel entusiaster sedan 1992

Il'u. the front wheels (The left and
the right ones identical.)

As shown in Figure 4, with the interlocking screw, fix the cushion plate and the fender
fixing plates to the loading box (As for the sizes of the screws, please refer to the loading
box screw specification diagram), then install the left and the right fenders, and last of all
install the left and the right wheels and lock the fixing screws of the clasping brake;




the handlebar

the shed poles (The left and the
right ones are symmetrical )

the quick disassembling
handles (six total)

the rainshed pendants (ten
total)

the seatbelts (four total)

reflecting panels (The left and
the right ones are identical)

—>

the headlights( The left and the
right ones are identical)

Amladcyklar

Léadcykel entusiaster sedan 1992

As shown in Figure 5, first connect the quick disassembling handles, the reflecting panels, the headlights, and the rainshed pendants to
their corresponding positions on the loading box, when the rainshed pendants are fixed, please note that the seatbelts should be added both in
the front and in the rear(The other end of the seatbelt should be connected to the corresponding holes in the cushion plate, as for the sizes of

@ the screws, please refer to the loading box screw specification diagram), then install the handlebar and the shed poles(The inserted depth
should be flush with the bottom of the casing), tighten the quick disassembling handle screws, and last of all organize the brake wires, the shift
cables, and the power wiring harness, and you will complete your installation.




Tricycle Screws Specification Diagram

(Note: the loading box screws are identical both on the right and
on the left, and in front and in rear)

Amladcyklar

Ladcykel entusiaster sedan 1992

|
|
nut 8*16L; screw M6*14 |

'| TR
\,\"’\\l\\
nut 8*18L; screw M6*16 ‘1 [ 1=

\l\:‘\}-
nut 8*16L; screw M6*14 '11 o
1

nut 8*10L; screw M6*8

©

To fix the bottom plate with an
M6 self locking nut, 12 M6*30L
large round cross head screws
are used.

7
J/ nut 8*8L; screw M6 14

nut 8*10L; screw M6*8

/f@
8 nut 8*10L; screw M6*8 6\

o Y
“\ 2

\ nut 8*8L; screw M6*10




Amladcyklar

Ladcykel entusiaster sedan 1992

Se lank till monteringsvideo af hydraulik bromsar:

Tektro
https://amladcyklar.se/wp-content/uploads/2020/06/Film-montering-
af-hydraulik-bremser-Assembly-of-hydrolic-brakes.mov

Bengal

https://amladcyklar.se/wp-content/uploads/2022/01/Bengal-
montering-video-1.mp4

https://amladcyklar.se/wp-content/uploads/2022/01/Bengal-
montering-video-2.mp4



https://amladcyklar.se/wp-content/uploads/2020/06/Film-montering-af-hydraulik-bremser-Assembly-of-hydrolic-brakes.mov
https://amladcyklar.se/wp-content/uploads/2022/01/Bengal-montering-video-1.mp4
https://amladcyklar.se/wp-content/uploads/2022/01/Bengal-montering-video-2.mp4

